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Abstract: In this paper, the method of how to draw the image of the distribution of prime numbers in

natural numbers is given.
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Find out the method of prime number distribution. 1. Draw a plane coordinate system and write
numbers on the number axis. 2. Arbitrarily select a coordinate axis and draw parallel lines parallel to
another coordinate axis based on the points with numbers on this coordinate axis. 3. Draw infinite
points on the parallel lines based on the points on this coordinate axis and the values of the numbers on
this coordinate axis as intervals on each parallel line. 4, Erase the slash with an angle of 45 ° with the
coordinate axis. 5. On another coordinate axis, you will find the number on this coordinate axis. If there
is no corresponding point, then the number is prime. If there is a corresponding point, then the number
marked by these corresponding points is its divisor. 6. If you want to find all the divisors of this number,

you have to redraw the 45 ° slash that has been erased.

Finally, the prime distribution you draw should be similar to the following picture, but the color mark in

this picture is another way to express it. | won't say it here. If you are interested, you can study it

yourself.
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In addition, this picture can give us a message,
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1, Sisa positive integer, Py is primes, Ny = 0 , = Hlo(ozl(pk S*nk) =
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So, now let me say, why is it like this?

First, we know that any natural number can be expressed as the product of prime numbers, which is

- . . — 17h n . .
similar to this form, that is, M = szl(pk k). Then, if the arrangement order is ignored, that



is, any natural number corresponds to the arrangement and combination of the product of a prime
number. So, that is to say, if the arrangement order is ignored, all the permutations and combinations
of prime numbers correspond to all natural numbers one by one.
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Then we find that this product is completely disassembled into the form of addition, which just ignores
the arrangement order and adds any arrangement and combination of all primes.
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Then we know that any natural number is equal to the sum of all its divisors divided by the sum of the
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reciprocal of all its divisors. So, there is,
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S is a positive integer, Py is primes, N}, = © , = Hlo<o=1(pk S*nk) —
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Then, we find that if we ignore the order of arrangement, if we write any natural number, all its divisors

have a unique way of writing.

Then, if we arrange the common divisors of all natural numbers in one line and arrange all natural
numbers in natural order, then we find that there will be such a picture. That is, the distribution image
of prime numbers in natural numbers.
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